
CADFILE NAME:

www.curtisind.com

PROPERTY OF CURTIS INDUSTRIES.  
THIS DRAWING IS THE SOLE 

NO.

CJD
PERMISSION OF CURTIS INDUSTRIES 
A WHOLE WITHOUT THE WRITTEN 

26000X000 RevH B Updated.slddrw

IS PROHIBITED.

THE INFORMATION CONTAINED IN 

.XXX TOL.  =  ±.005
ANY REPRODUCTION IN PART OR AS 

NONEPREVIOUS P/N:

B

N/A
SIZE DWG.

OF 1
REV.

DATEDRAWN CHECKED

MATERIAL

FINISH

H
SHT 1 

2400 South 43rd Street

26000X000

Phone: (414) 649-4200

N/A

Milwaukee, WI 53219

N/A

TO CURTIS INDUSTRIES.

SCALE

TITLE

4/29/2019MRJ

PROPRIETARY & CONFIDENTIAL UNLESS OTHERWISE 
SPECIFIED DIMENSIONS 

ARE IN INCHES.
TOLERANCES ARE:

 TOL.  =   0° 30'
.XX  TOL.  =  ±.01  H TERMINAL BLOCK ASSEMBLY

AR AR AR AR AR AR AR AR AR 048090000 WASHER, ALUMINUM 25
1 - - - - - - - - 088221009 MARKING STRIP, 6.156" 24
- 1 - - - - - - - 088221008 MARKING STRIP, 5.500" 23
- - 1 - - - - - - 088221007 MARKING STRIP, 4.844" 22
- - - 1 - - - - - 088221006 MARKING STRIP, 4.203" 21
- - - - 1 - - - - 088221005 MARKING STRIP, 3.547" 20
- - - - - 1 - - - 088221004 MARKING STRIP, 2.891" 19
- - - - - - 1 - - 088221003 MARKING STRIP, 2.234" 18
- - - - - - - 1 - 088221002 MARKING STRIP, 1.594" 17
- - - - - - - - 1 088221001 MARKING STRIP, 1.047" 16
2 2 2 2 2 2 2 2 2 080040000 END BRACKET, 5B 15
9 8 7 6 5 4 3 2 1 072550000 MOLDING, H BLOCK 14
1 1 1 1 1 1 1 1 1 072025000 END MOLDING, BT&H 13
2 2 2 1 1 1 1 1 1 062300700 KEPNUT, 10-32 12
3 3 2 2 2 2 2 1 1 052866700 SCREW, 6-32x1/4, BD, HD, COMBO, STL, ZN PL 11
1 - - - - - - - - 081109000 ASSEMBLY STUD, BT/H-9 10
- 1 - - - - - - - 081108000 ASSEMBLY STUD, BT/H-8 9
- - 1 - - - - - - 081107000 ASSEMBLY STUD, BT/H-7 8
- - - 1 1 - - - - 052715700 ASSEMBLY STUD (10-32x4-1/2 RD HD SCR, STL, CL, ZN) 7
- - - - - - - - - (DELETED) (DELETED) 6
- - - - - 1 - - - 052440700 ASSEMBLY STUD (10-32x3-1/8 RD HD SCR, STL, CL, ZN) 5
- - - - - - 1 - - 052275700 ASSEMBLY STUD (10-32x2-1/2 RD HD SCR, STL, CL, ZN) 4
- - - - - - - 1 - 052165700 ASSEMBLY STUD (10-32x1-7/8 RD HD SCR, STL, CL, ZN) 3
- - - - - - - - 1 052055700 ASSEMBLY STUD (10-32x1-1/8 RD HD SCR, STL, CL, ZN) 2
9 8 7 6 5 4 3 2 1 260100000 TERMINAL BAR ASSEMBLY 1
-9 -8 -7 -6 -5 -4 -3 -2 -1 PART NO. DESCRIPTION ITEMQTY PER "H" BLK ASSY

TYPE 
NO. ASSY PART NO. M.D. 

±.030
O.D. 
±.030

H-1 260001000 1.687 2.187
H-2 260002000 2.344 2.844
H-3 260003000 3.000 3.500
H-4 260004000 3.625 4.125
H-5 260005000 4.281 4.781
H-6 260006000 4.937 5.437
H-7 260007000 5.594 6.094
H-8 260008000 6.250 6.750
H-9 260009000 6.906 7.406

NOTES:

M.D. :  BLOCK TO MOUNT ON DIMENSIONS SHOWN.1.
O.D. :  PLUS OR MINUS 5/32" (MAX ON LONG BLOCKS).2.
STUD END NOT TO EXCEED 1/16." INSTALL ALUMINUM WASHER (ITEM 25) TO REDUCE IT. 3.

          CUT EXPOSED STUD END IF IT STILL IS LONGER THAN 1/16."

11

2
16

1513

12

14

1

25

1 EA REQD, H-1 ASSY
2 EA REQD, H-2 ASSY
3 EA REQD, H-3 ASSY
4 EA REQD, H-4 ASSY
5 EA REQD, H-5 ASSY
6 EA REQD, H-6 ASSY
7 EA REQD, H-7 ASSY
8 EA REQD, H-8 ASSY
9 EA REQD, H-9 ASSY

H-1 ASSY

H-2 ASSY

H-3 ASSY

H-4 ASSY

H-5 ASSY

H-6 ASSY

H-7 ASSY

H-8 ASSY

H-9 ASSY

17

20

21

23

22

18

24

19

H-1 ASSY

H-2 ASSY

H-3 ASSY

H-4 ASSY

H-5 ASSY

H-6 ASSY

H-7 ASSY

H-8 ASSY

H-9 ASSY

5

10

4

8

9

7

7

3

1 REQD, H-1 THRU H-2 ASSY
2 REQD, H-3 THRU H-7 ASSY
3 REQD, H-8 THRU H-9 ASSY

3

H

H
H

REVISION HISTORY
REV DESCRIPTION DATE CHNG'D BY APPV'D

A DWG. WAS 250A116 ADDED IT, DELETED OLD 
NOTE 2, REF. TO OLD STYLE DWG.  26084 9/6/78 SRS JBS

B SEE REVISION LIST
C DRAWING WS 260B13
D ECN 4236
E ECN 4252
F ECN 5079
G ECN 6917-3,  UPDATED KEPNUT QTY.
H ECN 6917-4, UPDATED P/N 7 IN BOM

NOTES:

M.D. :  BLOCK TO MOUNT ON DIMENSIONS SHOWN.1.
O.D. :  PLUS OR MINUS 5/32" (MAX ON LONG BLOCKS).2.
STUD END NOT TO EXCEED 1/16." INSTALL ALUMINUM WASHER (ITEM 25) TO REDUCE IT. 3.

          CUT EXPOSED STUD END IF IT STILL IS LONGER THAN 1/16."

REVISION HISTORY
REV DESCRIPTION DATE CHNG'D BY APPV'D

A DWG. WAS 250A116 ADDED IT, DELETED OLD 
NOTE 2, REF. TO OLD STYLE DWG.  26084 9/6/78 SRS JBS

B SEE REVISION LIST
C DRAWING WS 260B13
D ECN 4236
E ECN 4252
F ECN 5079
G ECN 6917-3,  UPDATED KEPNUT QTY.
H ECN 6917-4, UPDATED P/N 7 IN BOM

TYPE 
NO. ASSY PART NO. M.D. 

±.030
O.D. 
±.030

H-1 260001000 1.687 2.187
H-2 260002000 2.344 2.844
H-3 260003000 3.000 3.500
H-4 260004000 3.625 4.125
H-5 260005000 4.281 4.781
H-6 260006000 4.937 5.437
H-7 260007000 5.594 6.094
H-8 260008000 6.250 6.750
H-9 260009000 6.906 7.406


